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HE: ofelol MMEE X9
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HEg R =W 11,209,864 7,427,631 3,782,233
= 1,593,960
g 514,000
= 9,101,904
ool Masts X 11,136,326 7,358,197 3,778,129
= 1,593,960
= 514,000
o 9,028,366
HgMasEts X 4,845,000 3,906,700 938,300
= 632,000
o 4,213,000
HEA fHA E2ZEH BESAMG(SI2E)(=2D) 745,757 820,806 AT75,049
= 621,464
=} 124,293
403 XX SRS K20 & 745,757 820,806 75,049
= 621,464
& 124,293
01 MXSHAHNEE X 745,757 820,806 AT5,049
OlDNes =FJ|& - &d| - BHI&X WA X 745,757
= 621,464
& 124,293
XA HAZEDE E= N (=2D) 5,443 14,394 A 8,951
= 4,536
== 907
403 XX SHHS K201 & 5,443 14,394 N 8,951
= 4,536
= 907
01 XIS A2E X 5,443 14,394 N8,951
O ZLEDE &KX - A K& 5,443
= 4,536
= 907
HAIEH BHHA ASXKR(=2D) 10,000 0 10,000
= 6,000
& 4,000
403 XX SHHS K20 & 10,000 0 10,000
= 6,000
& 4,000
01 XIS A=2E X 10,000 0 10,000
OHAIE SZHIMA(H£=H) 10,000
= 6,000
== 4,000
POl DIMOLHAIY X & 2,498,500 2,384,500 114,000
202 044l 5,500 5,500 0
01 2L Y| 5,500 5,500 0
OHEQl CITMOFH ALY =& 5,500
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5 - 4
SAH-EB .S (3H) - HEAY - BE2 0 AF o il HD=2
308 AXISHXMSO0IH 2,493,000 2,379,000 114,000
01 HXHNBMNEXTZ 2,493,000 2,379,000 114,000
OHYE HAS &2 K& 2,358,000
OG0 A2 OIXEA 105,000
OLMNMEXN L SEEX B2 XN 30,000
A& EH Uiz & SAHYE g435 K& 1,585,300 687,000 898, 300
202 04 b 5,500 5,500 0
01 2LHHI 5,500 5,500 0
ONM&EH s ¥ YA 5,500
403 ItXISHH S K201 1,579,800 681,500 898, 300
01 X SHMA2E X 1,579,800 681,500 898, 300
OWAII2 L H2 oM & 252,000
oO2HAsE s=AA 167,800
OdZ2ol MEIHA HHl K& 76,000
O20 A5 WHD(H2D 56,000
OU&II& di=m YR AL 20,000
O30 MEI & oHE AU (HOIH)X 80,000
Qdor RA4Y HM =5 MI&d| 36,000
O7Es B2E AL 255,000
Ox=MAAHAIASS ONNYWSHED BELX & 12,000
Ol A & FHEIAAL 360,000
O=2HM AF]X HOE F=HAY 180,000
O20 d&5d =712 A XN 45,000
OO0oFEl & 2t0l =2l &Y 40,000
HEOIH MHE L HARNSEE 137,800 77,000 60,800
Hel HH&EIMNE X& 94,800 66,000 28,800
308 AXISHAMSOIH 90,000 60,000 30,000
01 X HMBAEEXZ 90,000 60,000 30,000
OTSI HAIOHE 2HBH K& 90,000
403 ItXISHHMSA201 A 4,800 6,000 A 1,200
01 X SHHMA2E X 4,800 6,000 A 1,200
OMEHE ZHRE &X 4,800
St = ALAIOILE 33,000 11,000 22,000
201 2Bt | 20,000 0 20,000
03 & AtE H 20,000 0 20,000
O M203 st ==AAIDILE JHE 20,000
202 04 b 1,500 1,500 0
01 2LHOHI 1,500 1,500 0
OM203 st =AADILE =& 1,500
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301 Bt A= 11,500 9,500 2,000
07 2Bl == 0 bl 10,000 0 10,000

OFECIE L= (20F 28 =3 04| 10,000
09 HAIAHI BEAZ 1,500 0 1,500
O HMI203] St 4=ALAIOILE SHAFAHI 2 A 1,500

Heusssd 10,000 0 10,000
201 et 10,000 0 10,000
01 A2t 2| bl 10,000 0 10,000

OZ3o HiCH =AM TFE 29 10,000
THoH Ol & & S E A HEF 3,568,046 1,212,939 2,355,107
= 103,200
Fag 440,000
& 3,024,846
ASOUAQIAI L (Z1) 495,000 126,000 369,000
= 440,000
& 55,000
403 XX SHHS K201 & 495,000 126,000 369,000
= 440,000
== 55,000
01 XIS A2 X 495,000 126,000 369,000
OALEHM 2127 &X 495,000
Fag 440,000
= 55,000
X)), HsSASAH|, VHF-DSCS M EHIBE 2 (= 134,160 150,939 N16,779
)
= 103,200
= 30,960
403 XX SHS K20 & 134,160 150,939 N16,779
= 103,200
= 30,960
01 XIS A2 X 134,160 150,939 N16,779
OHEAID MIEAIAE = 134,160
= 103,200
& 30,960

HEXNEN 2922 495,000 790,000 A 295,000
201 LBt | 210,000 210,000 0
01 AP 22| d| 10,000 10,000 0

ONHEE ERA=A 2AXE S 10,000
02 2%l 200,000 200,000 0
OHEXNE=EN RF|H & &2 200,000
202 04| 80,000 80,000 0
01 2L Hl 80,000 80,000 0
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OHYXNEH &30 80,000
401 Al B2 28I 200,000 500,000 A 300,000
01 A& HI 200,000 500,000 A300,000
O XEH 28 HX - J12 FIl=cl 200,000
405 XHoHF S HI 5,000 0 5,000
01 XL =2 ZFH S| 5,000 0 5,000
OHYXNEH 29235 7¢ 5,000
& ALD zerost Q& EH|l X 119,486 126,000 AN6,514
403 XSS =0l & 119,486 126,000 26,514
01 X SHMA2E X 119,486 126,000 N6,514
O &AL Zerost oM EHI XI& 91,650
oOod F&I| = HCEY XA 27,836
ol ol b xdl K& 24,400 20,000 4,400
403 A X EHHSH=0lA 24,400 20,000 4,400
01 X ESHHMA=2LE L 24,400 20,000 4,400
OXHAHHE HelxxEHl X 24,400
HZ49 oM (HYXNEH) HH2AE 2,300,000 0 2,300,000
401 Al HI 2 28I 2,300,000 0 2,300,000
01 A& HI 2,300,000 0 2,300,000
O¥ZE+Y ot (HPERNEH) A 2,300,000
ogel =XR& 1,199,300 729,545 469,755
= 45,000
< 1,154,300
el F2AY 2 RIS X 101,000 17,945 83,055
202 oddl 1,000 945 55
01 = LH o4 1l 1,000 945 55
oditoiggel AgH & |IHs NE =M 1,000
308 XXl EHH SOl A 100,000 17,000 83,000
01 X HHBLEES 100,000 17,000 83,000
odtoigel AFM M=l & ABE 22 50,000
oofitoigel | X 50,000
doge sXXd 2 HHsd A& 45,800 27,600 18,200
307 glz2+ol & 5,000 0 5,000
02 YAFHAANFEE 5,000 0 5,000
OW&E L HEXRS Y 2tEH3| 5,000
308 XX EHH SOl A 40,800 22,600 18,200
01 HXNHHNBHELS 40,800 22,600 18,200
odguge =35 XA 12,000
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od&dugel =XEt*H XA 28,800
Fx=0ge =X X 69,800 70,500 A700
307 glz2+ol & 60,000 60,000 0
01 22724l 40,000 40,000 0
&= &zH X 40,000
02 It S AIHE L 20,000 20,000 0
oOuz oHgel M2y XA 20,000
308 XXM SO0l A 9,800 10,500 A 700
01 IXNHHBENEES 9,800 10,500 A700
oLz HF=5 X 9,800
Mo2a S8 XA 465,000 349,500 115,500
308 XXM SOIA 465,000 349,500 115,500
01 AXHHIYEES 465,000 349,500 115,500
o0 Moll24 282 X& 165,000
O R THolE& 2Bz XA 300,000
s =X NE Z3 164,600 88,600 76,000
202 odl 5,600 5,600 0
01 =i 4 1l 5,600 5,600 0
oOxXEE =X XNF F=H 5,600
307 21201 A 24,000 0 24,000
02 LAFAAFEX 24,000 0 24,000
Ox=4taFHel Ags XA 24,000
308 X EHSOIA 75,000 83,000 A 8,000
01 HXNHHBHELS 75,000 83,000 A 8,000
Il NEHE X 75,000
403 MtXISHHE X201 & 60,000 0 60,000
01 XM A=2EE 60,000 0 60,000
O2L=¢0 H3 =ZANE &= 60,000
Hgel SXXE =i 100,000 140,000 240,000
403 XIS S X201 & 100,000 140,000 240,000
01 X SHHX2E = 100,000 140,000 A 40,000
Ox&g oHgel =Xsl2 A 100,000
g0l X2 (3dl) 53,100 35,400 17,700
= 45,000
< 8,100
308 A EHHSOIA 53,100 35,400 17,700
= 45,000
< 8,100
01 HIXNHHNBMNEELS 53,100 35,400 17,700




SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

O0It=<0l X& 53,100
= 45,000
< 8,100

st it dgel MI0s XA 200,000 0 200,000

308 XXM SOIA 200,000 0 200,000

01 IXNHHBANEES 200,000 0 200,000
ON122 e=a+=aMPBH B30z XN 200,000

=MD IsEs & AR 2e 1,386,180 1,432,013 A 45,833
= 813,760
= 74,000
= 498,420

S0HEH 22(2D) 92,000 92,000 0
= 46,000
= 46,000

307 21201 A 92,000 92,000 0
= 46,000
< 46,000

02 QItFAAHE X 92,000 92,000 0
OHZEEJIXNM Ols=cl IH X 92,000
= 46,000
< 46,000

SMLHFTA I =2HH(2D) 74,000 74,373 A373
R 74,000

201 £B-2dH| 37,000 34,000 3,000
s 37,000

01 At 22l 28,000 25,000 3,000
O=LHSHF XA AR 22l 28,000
s 28,000

02 2324l 9,000 9,000 0
oOxgd B2 HA & 24| 9,000
s 9,000

202 O4dl 37,000 40,373 A3,373
s 37,000

01 =2 LHA YI 37,000 40,373 A3,373
O HFRNA HEFEA 37,000
as 37,000

SAMANE LS (Z DB E TN RELAE D) (2 D) 61,020 61,020 0
= 20,340
< 40,680

403 MtXISHHE A0l & 61,020 61,020 0
= 20,340
= 40,680

02 S 2SO HEAEE 2 E AL 61,020 61,020 0
O3J|&2S0 s WAL (RAEWNR) 61,020




n
)

oF) on
R R

Rﬂu M < o]
) r n.Or 4—“ Q [e0) [e0)
n0 o o =) M Q ; ) ) ) )
. ; : M : : o o o
E -
H vt 2
< <
N~
B 2 2
; E 3 2 3 g
=4 [aV] N b~ 3 ‘I, . 3 - :
4_.__.._ w.ﬂ & N 5 o 2 o 2 X : : : :
ik 3 o o o 5 s |2 5 :
RS 1 .Rlv w 6, 4, O,
2 D D
< <
o O [¢o) o
I O ©
SBBERE|8REBRBRE|G ER|5E8E|E
CSlcne|onalc cnalg ne 58555853598 858/18328
zr - %WH%71,8,8,7,1,0,4,6,0,4,6wmm0w 5128|2888
, N S @o|d o oo 2122128822312 ¢2¢
g © © © © (<o) «© O 6v > > > > >
: © © © o ©o | ©o
SEFISER
ﬁ
i L o U iU U
o o o I
_ I U i i
ﬁ_: ﬂ - i o o
£ = - ﬂ
< - o] 2 ;
X = o p : ;
3] i ey 5 2 ’
= = ~ o < ; :
I ¥ ° i . : 5
=z = ok o <0 ok MJ -
) 0 W i z : :
= o o o = r i v
= 5) o 0 2 o] i :
o] 30 & & - : : :
o ) _ 3l e 5 : ¢ .
oF 30 ol 3l 8 = fr : o X
bl 2 — 30 o) no o 3D N . = - a
uJ M D o RO -~ 35 S : - > ; H_
. & B0 30 3 0 o LI 0 : - - g mrd ;
= o 0H H = = 3 = b X 5 S : i : ; :
%0 & 3 = < ~ H A U - S5 s i |w i =
. 5 ol M O U o) = = 3 = o od el T * U o 5
a3 2 5 3 e o @ © = 5 56 i S 25 IS =
[N} 3 : : :
u_. m : - : 5 3 > © T |26 = =
> 3 =) S i g |5 g 2
R0 2 s - ; s
= = @
_IA
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ol Margts X
Se1222 L AL o HE)
S E B (3H) - MBAY - BES ﬁlf& HD=2
01 XHNBMNEXTZ 406,000 464,000 A58,000
oAs&HHY SHAIY 406,000
= 350,000
o= 56,000
=AM 3= 106,000 106,000 0
308 XX SHAMSOIA 106,000 106,000 0
01 AIXHMBANEXZ 106,000 106,000 0
OHSY 7 =HHl XA 31,000
OUE0 Y &= 75,000
SASSEH2AL(Z2D) 40,000 40,000 0
2 20,000
[ 20,000
201 et A | 1,000 1,000 0
2 500
= 500
01 At 22l ] 1,000 1,000 0
Oxdts2a Y 2 1,000
= 500
& 500
307 212t0| & 39,000 37,000 2,000
= 19,500
& 19,500
05 A2t E 2 39,000 37,000 2,000
OxdsSE2aY2A2 CI2HPE 39,000
= 19,500
& 19,500
JIMEIRHAI (2D) 20,000 20,000 0
= 20,000
307 QI2t0| ™ 20,000 20,000 0
= 20,000
05 QIZtR E 2 20,000 20,000 0
OJIME ALY 20,000
= 20,000
NEZUZIHY SADNEH (21D)(2E) 12,000 12,000 0
= 12,000
201 et A | 6,000 5,000 1,000
= 6,000
01 At 22l ] 6,000 5,000 1,000
oOXs8&2IHY NssEa2E572Y 6,000
= 6,000
301 dBEtE A= 6,000 7,000 A 1,000
= 6,000
09 HAIAHI EA =S 6,000 7,000 A 1,000




SN HYRED
HE: Yo MABS XY
o2l A sEE 2 a2 EEREEED)
s = SRE]
A FB B (EN) - HRAY - BES 0l &t o il HImEET
CEEECENNEREES 6,000
= 6,000
HE oo doda2 ANd(=21) 83,553 15,620 67,933
= 74,320
< 9,233
403 UtXISHH S0l & 83,553 15,620 67,933
= 74,320
< 9,233
01 XM A=2EE 83,553 15,620 67,933
oOF¥Y gl FEXA 83,553
= 74,320
< 9,233
HO EAHO XNA(22) 14,750 59,000 A 44,250
= 12,500
< 2,250
308 MtXIEHMSOIH 14,750 59,000 A 44,250
= 12,500
= 2,250
01 HXNHHBHEES 14,750 59,000 A 44,250
OANEAHO 2YX & 14,750
= 12,500
< 2,250
SANB HERX XNE(=212) 400,000 400,000 0
= 200,000
< 200,000
307 glz2+ol & 400,000 400,000 0
= 200,000
= 200,000
05 RIZtRE = 400,000 400,000 0
OTAIQ OfESXI XA 400,000
= 200,000
< 200,000
HYR2AZH (0L EED) 73,538 69,434 4,104
Jl=&dl 73,538 69,434 4,104
FA2Y JIE23H 73,538 69,434 4,104
201 L4l 38,162 34,058 4,104
01 At 22l 31,162 27,058 4,104
ORHE2Y A2 31,162
02 =24l 7,000 7,000 0
oRHE2Y TB=YH| 7,000
202 O4dl 30,096 30,096 0
01 =L 4 dl 30,096 30,096 0
fAeY 2ol 30,096
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chelr D123l
x = - 4 14
SN FH-SA(EN) - MBAY - BES 0l &k o4 e
o
203 YR =&l 5,280 5,280
04 RNSIYRET 5,280 5,280
©31¢2l 0] &f 5,280




